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1) one of the following is element of demography :
A. Fertility
B. Mortality
C. Distribution

Answer: C
2) which of the following is the period of baby life we give him BCG ?

A. At the birth
B. 12 month
C. 9 month

D. 6 month
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Answer: A I

3 ) what is wrong about developing countries? |
A. Wide base i
B. Wide apex i
C. Sides are sloping I
D. Narrow apex I
Answer : B I
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4) All of the following are characteristics of population pyramid of
developed countries:

Narrow base

Wide apex

Sides are sloping

. The height of the pyramid is high
The median point is near to the apex
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Answer: C

5) what is wrong about alma ata ?
A. 134 country
B. 2000 is the date for health for all
C. Private sectors are the only sector responsible for public health
D. All of the above
Answer: C



6) the vaccine that is given intra- dermally ?
A. DTP
B. Measles
C. MMR
D. BCG
Answer : D
7 ) the vaccine that is given before entering the school:
A. BCG
B. DTP
C. MMR
Answer : C

8) vaccine that is related to lover cancer :
A. MMR
B. DTP
C. Hepatitis B
D. All of the above

9 ) the vaccine that is given in 12 month is :
A. Hepatitis B
B. BCG
C. Measles
D. MMR

Answer: D

10 ) what is correct about de jaure census ?
A. Less expensive
B. Counting individuals wherever they actually are on the day of the
census
C. Someone maybe omitted or counted twice
D. All of the above
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11) the absolute stopping of pertussis vaccine:
When body temperature reaches 40.5 degrees

12) the remove of pandemic from all countries and stop the cases means
?
A. Elimination
B. Eradication
C. Extinction
D. A+b
Answer: B

13 ) total deaths in a certain age of people is :
A. Cause specific mortality rate
B. CDR
C. Age specific death rate
D. Sex specific death rate
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Answer: C i

14 ) when to give BCG vaccine: I
A. 3 month I
B. 6month I
C. 18 month I
D. At birth I
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Answer: D
15 ) The most of the health professionals work in Jordan ?
A. Female physician
Male physician
Pharmacist
. Midwives
Registered nurses
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Answer: E



16 ) the crude birth rate is :

A. Total number of live births per 1000 mid year estimated in a given
year & locality

B. Total number of live births per 10000 mid year estimated in a given
year

C. The number of live births a given year & locality per 1000 females in
(15-49) year old

D. All of the above

Answer: A
17 ) which one indicates this ( how long the population take to double in
size ) ?
A. Natural increase
B. Growth rate
C. Total fertility rate
D. General fertility rate
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Answer: B i

18 ) what is the true according the maternal death? I
A. Maternal death rate & ratio indicates per 100000 live births I
B. Maternal death rate & ratio indicates per 100 live births I
C. Still birth is complete expulsion of a product I
D. All of the above i
Answer : C I

19 ) One of the following is not a cause of delay in reaching care: :
A. Distance .

B. Poor roads I

C. Cost of transportation I

D. Lack medical supplies !
Answer: D '
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20 ) what is true about public health ?
A. Method of diagnosis is epidemiology
B. Evaporation follow up of patients

Answer: A



21 ) what is false about history of modern public Health?
A. Outbreak of cholera epidemic is great sanitary awakening
B. Low life expectancy is great sanitary awakening
C. Health for all
D. It focused on the prevention of non — infections

22) what false about information accessibility?
A. Right for humans
B. Health workers can share personal health information
C. Including the right to seek ,receive & report information & ideas
concerning health issues
D. The data treated with confidentiality

Answer : B
23 ) what’s the correct about acceptability??

Culture sensitive for treatment by doctors in opposite sex

24 ) false about economic accessibility?
A. Not only the price of the health services
B. The cost transportation
C. Don’t taking time away from worker
D. All of the above

Answer : C
25 ) All of the following regarding benefits of community participation are
true EXCEPT :
a) people are more likely to accept preventive health care b) Increase
health awareness of the population
c) increase the burden on the government
d) great support to health care workers
e) It is an additional resource to those provided by government
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26 ) the most leading cause of death in Jordan is :
A. Hypertensive disease
B. Neoplasms
C. Transport accidents
D. Endocrine disease

Answer: A
27 ) All of the following regarding Health care organizations in Jordan are
true EXCEPT :
a) The MOH is the largest subsector
b) The RMS mainly provides primary health care
c) The private sector is the second largest subsector
d) KHCC is non-governmental
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Answer: B |

28 ) the higher total health expenditure : i
A. Curative I

B. Primary I

C. Training I

D. Administration I
Answer : A i

29 ) what is false about de facto : I
A. Much easy i

B. Less expensive i
Person in transit may be missed :
Some individuals may be omitted or counted twice i
It may give a false impression of size for areas with high .
migration or high seasonal !
mobility :
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Answer: D
30 ) about 5" stage , which one is true ?
A. Population growth is slow & fluctuating
B. Population size decrease
C. More births than deaths
D. Population size increase
Answer: B



31 ) ALL of the following regarding cultural and psychological barriers that
cause rural health problems are true EXCEPT :

A. Belief in fate

B. Food hygiene

C. Different perception

D. The tradition

Answer: B
32 )AIl of the following correct about obstacles related to consumers in
delivery of health care except:
A. High utillisation of available beds
B. Unhealthy lifestyle
C. Inadequate community participation
D. High mortality & morbidity
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Answer: A I

33) which of the following is freeze dried vaccine : i
A. BCG I
B. DTP I
C. OPV I
D. All of the above I
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Answer: A

34) IPV is a choice for eradication of poliomyelitis:
A. False
B. True

Answer: F
35 ) which of the following consider absolute contraindications?
A. Anaphylactic reaction
B. Severe illness
Recent receipt of blood
Immune suppression
All of the above
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Answer : A



36 ) Estimated mid year population of country k in a certain year =
10000000; no.of males = 6000000,

No of death = 20000, no.of male death = 12000

Female specific Death rate =

A) 15 per 1000
B) 2 per 1000
C) 5 per 1000
D) 4 per 1000
E) 10 per 1000

Answer : B
37 ) Estimated mid year population of town z = 8000000 persons in the
census of year 2000, it increased to reach 10000000 in 2010, the
estimated inter cencual population in 2005 will be :
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A) 9800000 i
B) 8200000 i
C) 9000000 I
D)8500000 i
E)9200000 i
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Answer: C

38 ) In city z in 2019 ,CBR = 20/1000 ,CDR=3/1000, estimated mid year
population is 3 million ,Rate Of natural increase =

A)3.2
B)1.7
C)2.3
D) 3.7
E) 4.5
Answer : B



39 ) what is the health determinant that indicates in figure?

A. Human biology
B. Environment
C. Life style

D. Culture

Answer :C

40- The vaccine of TB is dry freeze :
A) True
B) False
Answer :A

41- False about appropriate technology??

A) Oral instead of intervenors
B) Use lab testing of potency of vaccine
C) All of the above
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42- Population pyramid contains?

A) age sex
B) Income level
C) All of the following
Answer :A
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